

�	ا�� ����  ��
���
  ا���ه	 �
ق ����ن

�� ا���
ذ�� �����%�ر ا�#"�� ا!ول ا�&
�� (� ��دة*��+�  ا��.
م ا�,


ى� :ا��0
  ج م ع ت    1 

  
  ��8�12 :ا���	�6 ا!ول               


� ا��
�	� ا������)  أ   ��: 
11

23Na, 13
27Al, 10

20Ne, 17
35Cl, 8

16O, 18
40Ar 

 : � ��� ا����ا��
�	� ا��� ��� � -1
10: ا���� ا�����

20Ne, 8
16O  /  

���
()� �'�&ي $�# "!ار��: ا���" �10 :آ
20Ne: K2L8, 8

16O: K2L6   
11:ا���� ا����+

23Na, 13
27Al, 17

35Cl, 18
40Ar   

���
()� �'�&ي $�# /.ث "!ارات: ا���" �17 :آ
35Cl: K2L8M7, 18

40Ar: K2L8M8   
11

20Na : K2L8M1 , 13
27Al : K 2L8M3 

10 :ا��
�	� ا��� ��� �� ��� ا��)&د -2
20Ne, 18

40Ar          
���
()� �'�&ي $�# ��� $!د ا�
��و��ت �� "!ار4 ا��23 : ا���" �  :أي ا��)&د ا���"� )8(آ

 10
20Ne: K2L8, 18

40Ar: K2L8M8 

>� "� ا��
�	� ا���;�'!� -3$ � :�� �� ا�?!ول ا�!وري! "&=� آ

��و�� ا� -4�Aا ��ا��&ز C�D E;ن��&

>� "� ا��
�	� ا���; �$ � :�� آ)����"&=� آ

�<
11  ا��
23Na  13

27Al  10
20Ne  17

35Cl  8
16O   18

40Ar  
  3  2  3  2  3  3  ا����
  I III  VIII  VII  VI  VIII  ا��)&د


>� "� ا��
�	� ا���;��� -5$ �

��و�� ��A(� ا��ردة و �&ز�Iا� J"د ر!'. 
�<
11  ا��

23Na  13
27Al  10

20Ne  17
35Cl  8

16O   18
40Ar  

�I  11ردةا�
23Na+  13

27Al 3+    17
35Cl-  8

16O2-     

��و���A(� ا��ز&�  K2L8 K2L8    K2L8M8  K2L8    

� ا���M) ب    �
 :���# ا�
mn= 1,67x10-27 kg , mp= 1,67x10-27 kg, me= 9.1x10-31 kg 


�J�&م  O(رة ا�P� J"��12
24Mg .  


&��ت ه4P ا�Pرة -1" :A  ،���
 . $!د ا�
���و��ت  �Nو�&��ت، $!د ا�Z Sا��!د ا�
A=24, Z=12, N=A-Z=24-12=12 


��و��ت �Aو�&��ت  12$!د ا�S!د ا��و ���"Z 

��و��ت و آ��� �&اة  ;�� ���ر�ا�) -2�Aا ��
�J�&م ذرةآ�O(ا�: 


��و��ت�Aا �� m(électrons)= 12*9,1.10-31=109,2.10-31kg           :آ�

�J�&مO(اة ا�&� ��  m(noyau)=(12+12)*1,67.10-27=40,08.10-27kg: آ�

  :ا�)��ر��
   m(noyau)/m(électrons)=40,08.10-27/109,2.10-31=3670 


��و��ت ;ـ �Aا ��  ."�ة VD.�3670 أن آ��� ا�
&اة اآ�S "� آ�
3- �D��)رد��Z �
'Z رة وP4 ا�Pه �
'Z ب: 


� ا�Pرة'Z :q(Mg)= Z*e = 12*1,6.10-19 =19,2.10-19 C 

� �Zرد�(�         'Z :م ه�&�J�
O(ا� �<
�Z :12ردة $

24Mg2+    /K2L8M2 
�K2L8 

              q(Mg2+)= 2*e = 2*1,6.10-19 =3,2.10-19 C  
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  ��8ط 8  :���	�6 ا�#���ا  
� �� ا�&/���    
Iا� ��(�)1 (+�D ،و�� أ�����[ #��)&ا^� �� ا أP2ت ا��>&�� ا�)���=C �'�آ� [�\ $
1  ، ;��\   A� τ = 0.05sت ز"
�� "���و��?" cm�0.1 m   
    

1- �D��^ا�)&ا !
$ ��_'� M6, M5, M4, M3, M2, M1: ب ا���$� ا�
V1=M0M1/2τ =[(5,5*0,5)/(2*0,1)]= 5,5m/s 
V2=M1M3/2τ =[(5,5*0,5)/(2*0,1)]= 5,5m/s 
V3=M2M4/2τ =[(5,5*0,5)/(2*0,1)]= 5,5m/s 
V4=M3M5/2τ =[(5,5*0,5)/(2*0,1)]= 5,5m/s 
V5=M4M6/2τ =[(5,5*0,5)/(2*0,1)]= 5,5m/s 
V6=M5M7/2τ =[(5,5*0,5)/(2*0,1)]= 5,5m/s 

 
2- �D��^ا�)&ا !
 M5, M4, M3, M2: ب ���O ا���$� $

ن ��;V=V3-V1∆ 3���O� :M5, M4, M3, M2   �=. ا���$� $
! ا�)&ا^���D ������ Aب 
��Z a�
 .�� ا���$� "� ا��.=� ا�I��$��ع �Oا�'�آ� دا�b�� و ;������ ���

   
3- �VD. �^ا�)&ا �  .أن ا���$� /�;�� �� آ


�_)�: ]�S�� ا�'�آ�" ���bي ���'�آ� دا�bا�)&ا^� و ا�)��ر دا � .ا���$� /�;�� �� آ
 
�# ا�&/��� �)�� - 4$ �    �M6, M5, M4, M3, M2, M1 أZ�� ا���$� $
! ا�)&ا^) 1(

    M5, M4, M3, M2  &ا^�وآPا Z��ع ���O ا���$� $
! ا�)
1 cm �1.25 m/s 
X cm �5,5 m/s 

X=[5,5/1.25]=4.4cm 
  

5- �
�d4 ا�'�آ��اPع ا��&ة �� ه��Z ا���$� و ��O� ع��Z اPع ا���$� و آ��Z eb�<2 ج:  
�'�آ� �� آ� "&^�  –/�;g �� آ� ا�)&ا^�  - : Z��ع ا���$�� �d(� ا�'�آ� –")�] ��.  

  .[(�i �� ا�?�4 "�آJ ا�!ا�bة –آ� ا�)&ا^�  /�;Z :- �� g��ع ���O ا���$�
 .[(�i �� ا�?�4 "�آJ ا�!ا�bة -/�;g �� آ� ا�)&ا^�  -: Z��ع ا��&ة

 

! ا�)&^�  -6$ �
 :�S�$�;M0ر "S!أ ا3ز"
  �M8'_� "�ور ا�?�\ ;��)&^�  د�?إ�

t= 8τ = 8*0.05= 0.4s 
 
7- � �_'� . t = 0.3s'!د "&^� ا�?�\ $
! ا�

t= Mτ    أيM= t/τ= 0.3/0.05=6  
 �_'� M6ه& ا�)&^�   t = 0.3s"&^� ا�?�\ $
! ا�
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